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1 Briefly define flexible working practices. Explain the reasons for the spread of
these practices in Britain. The growth of flexible working practices has occurred
alongside a growing demand for a better work-life balance: Discuss the relationship
between these two trends. [100%]

2 The WERS2004 evidence suggests that the formal industrial relations system in
Britain may be in decline. Make the case for either its eventual disappearance or its
renaissance. Whichever case you make, indicate the likely future roles for employers,
employees’ representatives and the state. [100%]

3 Discuss the range of social and technical issues that a company should consider
when choosing technologies for the production of goods and/or services. Illustrate your
answer using an example of a specific product. [100%)]

4 Describe the main economic and social issues that the employment policies of a
UK-based multinational company must address. How might the company seek to
address them? [100%]
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